— 39 —

Ort fir 1900.0 Priizession 1900 Kartenort Grélfe
Nr. Name - Farbe | Spekt.
AR. Dekl. AR. | Dekl AR. Dekl. Max. Min.
I
251 | UU Centauri 137 15™30%| —60°47!1 | +3385|—032 13" 14™ 3% —60°302| — !i‘ — | 10% (ph)| 1471 (ph)
| 752 | RZ Virginis 16 45|+ 2 22.3|+3.05|—0.32 14 28|+ 2 36.5] — Il — 2 122
| 753 | U Muscae 18 16| —64 8.4|+4.00|—0.31 16 36 [—64 o3| — |Md?| 1o.5(ph)| < 14.0(ph)
| 754 | W Virginis 20 52|— 2 53L.5|+3.10/—0.31 18 33|— 2 37.4] 5?7 ||Cont.|8.7—g.2 | 9.8—10.4
i 755 | SX Ursae maj. 22 20|+36 46.6]|+2.35 —0.31 20 34|+357 o7 — || — | 103 1)
756 | RR Ursae maj. 22 22 |462 34.1|42.15/—0.31 20 45|+63 8.2| 5 |Md?|86—10 14
| 757 V Virginis 22 381— 2 3g2|+3.09|—0.31 20 1g|— 2 235.1| 6 Md | 8.0—g.0 14.0!
i 758 R Hydrae 24 15|—22 43.9|=+3.27|—0.31 21 48|—22 31.8] § Md 4—3 10
! 7359 S Chamaeleontis 24 36|—77 2.9|=4+5.17|—0.31 22 28| —756 5351 — - 7.0 (ph) 8.0 (ph)
| 760 | SSHydrae 25 1|—23 8.0|+3.28|—0.31 22 33|—22 53.6] — | — 7.4 8.1
| !
| 761 | VW Centauri 13 27 6|—63 32.4|+4.07|—0.31]13 25 25|—63 24.6] — | — 9.0 (ph)r 11.2 (ph)
| 762 S Virginis 27 47|— 6 40.8|+3.13|—0.31 25 26| — 6 26.gf 7.5 |[Md8| 6—8 12.3
| 763 | RW Hydrae 28 47|—24 32.0]/+3.31|—0.31 27 24|—24 44.3] — |[Mdz2} 8.1(ph) 9.6 (ph)
| 764 | RV Ursae maj. 29 23|+54 30.2|+42.360|—0.31 27 37|+54 44.1] — [ F3?}] 94 10.3
| 765 | SX Virginis 31 4|—19 4.7|+3.25/—0.31 28 38|—18 508 — || — 9 10:
766 | RV Centauri 31 8|—355 57.9|+3.84|—0.31 29 32|—55 502 — N 9.0 (ph) | < 12.6 (ph)
767 T Ursae min. 32 38|+73 504 |+1.25|—0.31 31 42 |+74 102| 3 |Md6|8',—10 13.5
768 | XX Centauri 33 46|—37 6.3]|+3.89|—0.31 32 8|—36 386 — | — 7.6 (ph) 8.7 (ph)
769 | SY Centauri 35 3|—61 15.8|44.05|—0.31 33 22|—61 81| — | Ap? 9.9 (ph) 10.7 (ph)f
770 T Centauri 36 2|—33 3.3|+343|—0.31 34 36|—32 57.8] 6: |[Md3|352—6.6| 7.4—0.0
! 771 T Circini 13 36 15|—64 58.2|~+4.24|—0.31|13 34 30|—64 50.5| — A | 10.0(ph) 11.0(ph)
| 772 | RY Virginis 36 18| —18 37.8[{+3.206|—0.31 33 52|—18 22.1| — || Ma 8.3 (ph) 9.3 (ph)
| 773 V Ursae min. 36 53|+74 49.0|+1.05|—0.30 36 7|475 27 — || Mb | 7.5 8.7
| 774 | RT Centauri 42 30|—36 21.8|+3.50|—0.30] 41 2|—36 142| 9 | — |7.0—8.9|r08—<115
i 775 | XY Centauri 12 40|—44 1.0§+3.63|—0.30 41 9|—43 53.5| — | Mcs| 9.4 (ph) 10.4 (ph)
| 776 W Hydrae 43 23!—27 52.01+3.38|—0.30 41 59|—27 44.5) 10? [Md1ol 6.7 8.0
777 | SZ Centauri 13 51|—38 o0.0|+4.01|—0.30 42 11|—37 52.5| — || A3 8.2 (ph) 8.8 (ph)
778 | RT Canum ven. 34 15|4+34 11 |+2.67|—0.30 42 15|34 25 — | — | rr(ph) | <T12.5(ph)
779 | VX Centauri 44 21|—39 54.8{+4.09|—0.30| 42 39|—59 47.3| — || — | 9:3(ph)| 12.0(ph)
780 R Canum ven, 44 40|+40 2.4|42.58|—0.30 42 44 |+40 15.0| 6: ||[Mdg|6.5—8.0|11.0—12.5
| 781 | RX Centauri 13 45 32|—36 26.8|+3.51|—0.30|13 44 5|—306 19.3| 6 — 8.8+ |<123
! 782 T Apodis 46 6|—77 18.5|+5.72|—0.30 43 44 |—77 1L0| 7 — | 8.1—8.9 | <12
| 783 | TT Virginis 50 20| —10 43.8|+3.19|—0.30 47 56|—10 30.5] — || — | 14.0(ph) 15.0 (ph)
| 784 | TU Virginis 51 32|—I2 4.3|=+3.21|—0.30 49 8|—I1 51.0f — 5 — | 13.0(ph) 14.0 (ph)
' 785 | TW Centauri 51 371 —30 34.5|+3.44|—0.30 50 31|—30 27.1| — Md6}| 7.6(ph) 14.0 (ph)
786 | SY Virginis 53 25— 4 5.3|+3.12|—0.29 51 5|— 3 52.1| — - o) 12
| 787 1 RU Canum ven. 55 5|+32 7 |+2.67|—0.29 53 5|-+32 20 - — | 10.7 11.5
| 788 # Apodis 55 35|—76 18.8|+5.72|—0.29 53 13|—76 11.5| 7: |[Md?]| 5.1 6.6
789 | SSUrsaemaj. 58 30|+34 56.8|+2.13|—0.29 56 54|+355 100| — || — |=10"8(ph)| < 16(ph)
| 700 | RZ Bootis 58 342|429 12 |+42.70|—0.29 56 40| 429 25 == il == 10(ph) 12 (ph)
| 791 | TV Virginis 13 58 49— 9 31.2|+3.18|—0.29|13 56 26|— g 181 — | — | 13.0(ph) 1.0 (ph)
702 | RR Virginis 50 35(— 8 42.9|+3.17|—0.29 57 13|— 8 20.8}] — = | 11 6H
| 703 X Canumven. |14 © 43[=+38 5.6|+2.55|—029 58 49|+38 18.6] 3: — | 0.9 10.7
| 794 Z Bootis 1 39, +13 57.7|+2.00|—0.29 50 28 |+14 1071 3 Md | 8.5—09g.5 | <_12.3
| 705 W Canum ven. 2 15|+38 18.3|+2.54|—0.29 |14 o0 21|38 31.3| =2 — 0.8 10.8
i 706 Z Virginis 4 38|—12 49.8|+43.23|—0.29 2 32|—12 36gf 1 - 9.5 <14
| 797 | RU Hydrae 5 48| —28 24.8|+3.45(—0.29 4 22|—28 17.6| 6.7 | — |7.5—8.8| <123
798 R Centauri g 22|—59 26.9|+4.28|—0.28 7 352——59 19.8) 10.0 |Md 6§ 5.3—6.6 | <13
709 T Bootis g 25|+19 32.0[/+2.82|—0.28 7 18|+19 44.7| — || — 9.7 < 14
| 800 | RR Centauri 9 55|—37 23.3|+4.19|—0.28 8 10/—37 162 — || F 7.4 7.8
{ 1| ]
| |




